FREFHHEHE

AEER FEMRIES AL

BEEE5HRE ZEESEHK
{EIER] EIER =
SFM2%E 57 83.1 83.3 0.2
6 B 135.6 135.1 -0.5
7H 112.0 112.7 0.7
8 B 86.2 86.9 0.7
9A 84.4 84.3 -0.1
1048 85.4 85.6 0.2
1148 85.3 85.9 0.6
128 170.0 173.5 3.5
SM3E 1A 89.1 89.5 0.4
2R 86.6 86.4 -0.2
1EIERT BIE# =
S0 2 £F5 99.3 99.7 0.4
EE-oTEHIRT 245 ZBEESEK
{EIER] (EAXES =
SM2%E 57 96.4 96.6 0.2
6 A 99.5 98.6 -0.9
7H 99.5 99.8 0.3
8 B 99.1 99.7 0.6
9A 99.4 99.3 -0.1
1048 100.3 100.5 0.2
1148 99.1 99.6 0.5
12A8 99.6 100.0 0.4
SM3E 18 99.0 98.6 -0.4
2R 100.6 100.4 -0.2
EER (ENZES =
S0 2 £F 99.3 99.4 0.1

1 &%
REWMEHE EHK (M)
{EIER] EIE% =
SFM2%E 57 241,738 | 242,331 593
6 A 394,479 | 393,072 | -1,407
7H 325,683 | 327,877 2,194
8 A 250,902 | 252,688 1,786
9 A8 245,579 | 245,347 -232
10A8 248,310 | 248,899 589
1148 248,268 | 249,766 1,498
12A8 494,457 | 504,763 | 10,306
SM3E 1A 259,126 | 260,233 1,107
2R 251,823 | 251,239 -584
{EIERT BIE# =
S0 2 ¥ 288,686 | 290,020 1,334
TE-oTCXRT 565 EI (M)
{EIER] EIE# =
SHM2%E 57 235,906 | 236,479 573
6 B 243,575 | 241,235 -2,340
78 243,597 | 244,263 666
8 B 242,569 | 244,079 1,510
9 A 243,333 | 243,091 242
1048 245,524 | 245,965 441
11A8 242514 | 243,616 1,102
12A 243,665 | 244,667 1,002
SM3E 1A 242,185 | 241,386 -799
2R 246,247 | 245,659 -588
EIERT (ENZES =
S0 2 £FH 242,964 | 243,191 227
FTE NG5 ()
{EIER] BIE# =
SM2%E 57 222,844 | 223,343 499
6 B 230,144 | 227,899 | -2,245
78 229,910 | 230,928 1,018
8 B 228,096 | 229,649 1,553
9 A 228,526 | 228,186 -340
10A8 229,902 | 230,347 445
11A8 226,657 | 227,510 853
12A 227,927 | 228,819 892
SM3E 1A 226,275 | 225,363 -912
2B 229,272 | 228,743 -529
{EIERT EIE% =
S0 2 £FH 227,729 | 227,952 223




BEHERn S (M)
{E1ERT 1% =
S2%F 5 A 13,062 13,136 74
6 A 13,431 13,336 -95
7R 13,687 13,335 -352
8 A 14,473 14,430 -43
9 A 14,807 14,905 98
10R 15,622 15,618 -4
118 15,857 16,106 249
12R 15,738 15,848 110
SM3FE 1A 15,910 16,023 113
2R 16,975 16,916 -59
1EIER (ENEE =
S 2 FFH 15,235 15,239 4
FallcZihbhifas (M)
{E1ERT E1E#R =
SM2F 5A° 5,832 5,852 20
6 A 150,904 | 151,837 933
7R 82,086 83,614 1,528
8 A 8,333 8,609 276
9 A 2,246 2,256 10
10R 2,786 2,934 148
118 5,754 6,150 396
12R 250,792 | 260,096 9,304
SM3FE 1A 16,941 18,847 1,906
2 R 5,576 5,580 4
{E1ERT 1E1E% 7=
S 2 FFH 45,722 46,829 1,107




2 HEpsR

RRFEEFHE B

WEFBFE EHK (F5fED)
1E1EH) EIE#% 7=
SM2F 5A° 127.9 128.0 0.1
6H 145.1 144.6 -0.5
7H 146.3 147.0 0.7
8 H 133.4 133.9 0.5
9R 142.4 142.7 0.3
10AR 148.0 147.7 -0.3
11AR 143.0 143.0 0.0
12A4 142.9 143.1 0.2
SM3F 1A 136.2 135.5 -0.7
2 R 138.2 138.0 -0.2
{E1ERT EIEE =
S 2 FFH 140.9 140.9 0.0
FREANFEFE  EH (F5fED)
1EIER EE#% =
SM2F 5A° 121.2 121.3 0.1
6H 137.0 136.5 -0.5
7R 137.9 138.7 0.8
8 H 125.3 125.7 0.4
9R 133.3 133.5 0.2
10AR 138.1 137.7 -0.4
11R 133.5 133.4 -0.1
12R 133.4 133.5 0.1
SM3F 1A 127.0 126.1 -0.9
2 B 128.6 128.4 -0.2
{E1ERT E1EE 7=
S 2 FFH 132.0 132.0 0.0
FRENFBIRE = (B
1EIER EIE# 7=
SM2F 5A° 6.7 6.7 0.0
6 A 8.1 8.1 0.0
7H 8.4 8.3 0.1
8 A 8.1 8.2 -0.1
9H 9.1 9.2 -0.1
10AR 9.9 10.0 -0.1
11R 9.5 9.6 -0.1
12R8 9.5 9.6 -0.1
SM3FE 1A 9.2 9.4 -0.2
2R 9.6 9.6 0.0
{E1ERT EIEE =
S 2 FFH 8.9 8.9 0.0

{EIERT BIE# =
SH25E 58 85.5 85.6 0.1
6 B 97.0 96.7 -0.3
78 97.8 98.3 0.5
8 A 89.2 89.5 0.3
9A 95.2 95.4 0.2
10A8 98.9 98.7 -0.2
118 95.6 95.6 0.0
12A 95.5 95.7 0.2
SM3E 18 91.0 90.6 -0.4
2 A 92.4 92.2 -0.2
(ENE] EIE® =
S0 2 F£F 94.2 94.2 0.0
FrEMN S EEERE e
1E1ERT EIER =
SM2E 58 87.8 87.9 0.1
6 B 99.3 98.9 -0.4
7H 99.9 100.5 0.6
8 A 90.8 91.1 0.3
9A 96.6 96.7 0.1
10A8 100.1 99.8 -0.3
118 96.7 96.7 0.0
12A8 96.7 96.7 0.0
SM3E 18 92.0 91.4 -0.6
2 A 93.2 93.0 -0.2
(ENET] BIE# =
S 2 F£F 95.6 95.7 0.1
FrESN @SR e
1E1ERT EER =
SM25E 58 57.3 57.3 0.0
6 B 69.2 69.2 0.0
7H 71.8 70.9 -0.9
8 A 69.2 70.1 0.9
9A 77.8 78.6 0.8
1048 84.6 85.5 0.9
118 81.2 82.1 0.9
12A8 81.2 82.1 0.9
Sf3%F 1A 78.6 80.3 1.7
2R 82.1 82.1 0.0
EIEH] BIE# =
S0 2 F£F 15 76.0 76.3 0.3




3 EH

HRRERFBHELR EREK

HARERAHBEK (N)
1E1EH) EIE#% 7=
SM2F 5A° 799,206 | 798,841 -365
6H 801,987 | 801,788 -199
7H 802,802 | 801,403 -1,399
8 H 801,331 | 800,009 -1,322
9R 802,665 | 803,327 662
10AR 803,819 | 806,251 2,432
11AR 802,738 | 805,621 2,883
12A4 805,081 | 808,930 3,849
SM3F 1A 799,476 | 801,927 2,451
2 R 796,173 | 799,333 3,160
{E1ERT EIEE =
S 2 FFH 803,883 | 804,429 546

1EIERT EIE#% 7=
SM2F 5A 98.4 98.3 -0.1
6 A 98.7 98.7 0.0
7H 98.8 98.6 -0.2
8 H 98.6 98.5 -0.1
9H 98.8 98.9 0.1
10AR 98.9 99.2 0.3
11HR 98.8 99.2 0.4
12H 99.1 99.6 0.5
SHM3F 1A 98.4 98.7 0.3
2R 98.0 98.4 0.4
{E1ERT EIE#R 7=
S 2 £ 98.9 99.0 0.1




